

An Eigenvalue Majorization Inequality for Positive Semidefinite Block Matrices: In Memory of Ky Fan

Minghua Lin ^{*} Henry Wolkowicz [†]

July 25, 2011

University of Waterloo
Department of Combinatorics & Optimization
Waterloo, Ontario N2L 3G1, Canada
Research Report CORR 2011-02

Key words and phrases: Majorization, positive semidefinite

Abstract

Let $H = \begin{bmatrix} M & K \\ K^* & N \end{bmatrix}$ be a Hermitian matrix. It is known that the eigenvalues of $M \oplus N$ are majorized by the eigenvalues of H . If, in addition, H is positive semidefinite and the block K is Hermitian, then the following reverse majorization inequality holds for the eigenvalues:

$$\lambda \left(\begin{bmatrix} M & K \\ K & N \end{bmatrix} \right) \prec \lambda((M + N) \oplus 0).$$

Interesting corollaries are included.

Contents

1 Introduction	2
1.1 Preliminary Results	2
2 Proof of Main Result and Corollaries	3
Bibliography	4

^{*}Department of Combinatorics and Optimization, University of Waterloo, Ontario N2L 3G1, Canada. Email: mlin87@ymail.com

[†]Research supported by The Natural Sciences and Engineering Research Council of Canada. Email: hworkowicz@uwaterloo.ca

⁰ URL for paper: orion.math.uwaterloo.ca/~hworkowi/henry/reports/ABSTRACTS.html

1 Introduction

Matrix eigenvalue majorization results have interesting applications in many disciplines of mathematics, e.g. in linear algebra, probability, statistics, combinatorics, etc. It is still a very active research topic that attracts many mathematicians. Recent results on this topic can be found in e.g., [2, 5, 8, 7, 9].

An early result concerning eigenvalue majorization is the fundamental result due to I. Schur (see e.g [1, 6]), which states that the diagonal entries of a Hermitian matrix A are majorized by its eigenvalues, i.e., $\text{diag}(A) \prec \lambda(A)$. This result can be easily extended to block Hermitian matrices.

More precisely, if $\begin{bmatrix} M & K \\ K^* & N \end{bmatrix}$ is Hermitian, then

$$\lambda(M \oplus N) \prec \lambda \left(\begin{bmatrix} M & K \\ K^* & N \end{bmatrix} \right). \quad (1.1)$$

Here and throughout, K^* denotes the Hermitian conjugate transpose of K ; and $M \oplus N$ denotes the direct sum of M and N , i.e., the block diagonal matrix $\begin{bmatrix} M & 0 \\ 0 & N \end{bmatrix}$.

In this paper, we present the following reverse majorization inequality for a Hermitian positive semidefinite 2×2 block matrix. The proof and some interesting consequences are given in the next Section.

Theorem 1.1. *Let $H = \begin{bmatrix} M & K \\ K^* & N \end{bmatrix}$ be a Hermitian positive semidefinite matrix. If, in addition, the block K is Hermitian, then the following majorization inequality holds:*

$$\lambda \left(\begin{bmatrix} M & K \\ K & N \end{bmatrix} \right) \prec \lambda((M + N) \oplus 0). \quad (1.2)$$

Here, and throughout the paper, 0 is a zero block matrix of compatible size.

1.1 Preliminary Results

Let $\mathbb{M}^{m \times n}(\mathbb{C})$ be the space of all complex matrices of size $m \times n$ with $\mathbb{M}^n(\mathbb{C}) = \mathbb{M}^{n \times n}(\mathbb{C})$. For $A \in \mathbb{M}^n(\mathbb{C})$, the vector of eigenvalues of A are denoted by $\lambda(A) = (\lambda_1(A), \lambda_2(A), \dots, \lambda_n(A))$. If A is Hermitian, we will always arrange the eigenvalues of A in nonincreasing order: $\lambda_1(A) \geq \lambda_2(A) \geq \dots \geq \lambda_n(A)$.

For two sequences of real numbers arranged in nonincreasing order,

$$x = (x_1, x_2, \dots, x_n), \quad y = (y_1, y_2, \dots, y_n),$$

we say that x is majorized by y , denoted by $x \prec y$ (or $y \succ x$), if

$$\sum_{j=1}^k x_j \leq \sum_{j=1}^k y_j \quad (k = 1, \dots, n-1), \quad \text{and} \quad \sum_{j=1}^n x_j = \sum_{j=1}^n y_j.$$

We make use of the following lemmas in our proof of Theorem 1.1.

37 **Lemma 1.2.** *If $A, B \in \mathbb{M}^n(\mathbb{C})$ are Hermitian, then*

$$2\lambda(A) \prec \lambda(A + B) + \lambda(A - B). \quad (1.3)$$

38 *Proof.* The lemma is equivalent to Ky Fan's eigenvalue inequality. The proof can be found in [4,
39 Theorem 4.3.27]; see also [10, Theorem 7.15]. \square

40 **Lemma 1.3.** *Let $A \in \mathbb{M}^{m \times n}(\mathbb{C})$ with $m \geq n$, then we have*

$$\lambda(AA^*) = \lambda(A^*A \oplus 0). \quad (1.4)$$

41 2 Proof of Main Result and Corollaries

42 Before we give the proof of Theorem 1.1, we show by an example that the requirement K being
43 Hermitian is necessary.

44 **Example 2.1.** *Let $M = \begin{bmatrix} 1 & 0 \\ 0 & 4 \end{bmatrix}$, $N = \begin{bmatrix} 1 & 1 \\ 1 & 2 \end{bmatrix}$ and $K = \begin{bmatrix} 1 & 1 \\ 0 & 2 \end{bmatrix}$. Then*

$$\begin{aligned} \lambda((M + N) \oplus 0) &= (4 + \sqrt{2}, 4 - \sqrt{2}, 0, 0), \\ \lambda\left(\begin{bmatrix} M & K \\ K^* & N \end{bmatrix}\right) &= (4 + \sqrt{5}, 4 - \sqrt{5}, 0, 0). \end{aligned}$$

45 *Therefore $\lambda\left(\begin{bmatrix} M & K \\ K^* & N \end{bmatrix}\right) \not\prec \lambda(M + N) \oplus 0$.*

46 **Proof of Theorem 1.1.** Since $H := \begin{bmatrix} M & K \\ K & N \end{bmatrix}$ is positive semidefinite, we may suppose
47 $H \in \mathbb{M}^{2n}(\mathbb{C})$ and write $H = P^*P$, where $P = \begin{bmatrix} X & Y \end{bmatrix}$, for some $X, Y \in \mathbb{M}^{2n \times n}(\mathbb{C})$. Therefore,
48 we have $M = X^*X$, $N = Y^*Y$ and $K = X^*Y = Y^*X$. Note that by Lemma 1.3, we have
49 $\lambda\left(\begin{bmatrix} M & K \\ K & N \end{bmatrix}\right) = \lambda(PP^*)$. The conclusion (1.2) is then equivalent to showing

$$\{X^*Y = Y^*X\} \implies \{\lambda((X^*X + Y^*Y) \oplus 0) \succ \lambda(XX^* + YY^*)\}. \quad (2.1)$$

First, note that

$$\begin{aligned} (X + iY)^*(X + iY) &= X^*X + Y^*Y + i(X^*Y - Y^*X) \\ &= X^*X + Y^*Y \\ (X - iY)^*(X - iY) &= X^*X + Y^*Y - i(X^*Y - Y^*X) \\ &= X^*X + Y^*Y \\ (X + iY)(X + iY)^* &= XX^* + YY^* - i(XY^* - YX^*) \\ (X - iY)(X - iY)^* &= XX^* + YY^* + i(XY^* - YX^*). \end{aligned}$$

50 Therefore we see that

$$\begin{aligned} \lambda((X^*X + Y^*Y) \oplus 0) &= \frac{1}{2} \{\lambda((X + iY)^*(X + iY) \oplus 0) + \lambda((X - iY)^*(X - iY) \oplus 0)\} \\ &= \frac{1}{2} \{\lambda((X + iY)(X + iY)^*) + \lambda((X - iY)(X - iY)^*)\} \\ &\succ \lambda(XX^* + YY^*), \end{aligned}$$

51 where the second equality is by Lemma 1.3 and the majorization follows from applying Lemma 1.2
52 with $A = (XX^* + YY^*)$, $B = i(XY^* - YX^*)$. \square

53 As we can see from the above proof, a special case of of Theorem 1.1 can be stated as follows.

54 **Corollary 2.2.** *Let $X, Y \in \mathbb{M}^n(\mathbb{C})$ with X^*Y is Hermitian. Then we have*

$$\lambda(XX^* + YY^*) \prec \lambda(X^*X + Y^*Y). \quad (2.2)$$

55 **Corollary 2.3.** *Let $k \geq 1$ be an integer. If $A, B \in \mathbb{M}^n(\mathbb{C})$ are Hermitian matrices, then we have*

$$\lambda(A^2 + (AB)^k(BA)^k) \succ \lambda(A^2 + (BA)^k(AB)^k). \quad (2.3)$$

56 *Proof.* Let $X = A$ and $Y = (BA)^k$. Then $XY = A(BA)^k$ is Hermitian. The result now follows
57 from Corollary 2.2. \square

58 **Corollary 2.4.** *Let $k \geq 1$ be an integer, and let $A, B \in \mathbb{M}^n(\mathbb{C})$ be Hermitian matrices. Then we
59 have*

60 1. $\text{trace}[(A^2 + (AB)^k(BA)^k)^p] \geq \text{trace}[A^2 + (BA)^k(AB)^k]^p$, for $p \geq 1$;

61 2. $\text{trace}[(A^2 + (AB)^k(BA)^k)^p] \leq \text{trace}[A^2 + (BA)^k(AB)^k]^p$, for $0 \leq p \leq 1$.

62 *Proof.* Since $f(x) = x^p$, is a convex function for $p \geq 1$ and concave for $0 \leq p \leq 1$, corollary follows
63 from Corollary 2.3 and a general property of majorization. (See [6].) \square

64 **Remark 2.5.** *A key inequality used in [3] to strengthen some Golden-Thompson type inequalities
65 is just a special case of Corollary 2.4 by taking $k = 1$.*

66 References

- 67 [1] R. Bhatia. *Matrix analysis*. Springer-Verlag, New York, 1997. 2
- 68 [2] R. Bhatia and F. Kittaneh. The matrix arithmetic-geometric mean inequality revisited. *Linear
69 Algebra Appl.*, 428(8-9):2177–2191, 2008. 2
- 70 [3] S. Furuichi and M. Lin. A matrix trace inequality and its application. *Linear Algebra Appl.*,
71 433(7):1324–1328, 2010. 4
- 72 [4] R.A. Horn and C.R. Johnson. *Matrix Analysis*. Cambridge University Press, Cambridge, 1990.
73 Corrected reprint of the 1985 original. 3
- 74 [5] T.-G. Lei, C.-W. Woo, and F. Zhang. Matrix inequalities by means of embedding. *Electron.
75 J. Linear Algebra*, 11:66–77 (electronic), 2004. 2
- 76 [6] A.W. Marshall and I. Olkin. *Inequalities: Theory of Majorization and its Applications*. Aca-
77 demic Press, New York, NY, 1979. 2, 4
- 78 [7] M. Niezgoda. A unified treatment of certain majorization results on eigenvalues and singular
79 values of matrices. *Forum Math.*, 21(2):333–346, 2009. 2
- 80 [8] M. Niezgoda. Complements to some results on eigenvalues and singular values of matrices.
81 *Linear Multilinear Algebra*, 58(1-2):1–13, 2010. 2
- 82 [9] T. Stephen. A majorization bound for the eigenvalues of some graph Laplacians. *SIAM J.
83 Discrete Math.*, 21(2):303–312 (electronic), 2007. 2
- 84 [10] F. Zhang. *Matrix theory*. Universitext. Springer-Verlag, New York, 1999. Basic results and
85 techniques. 3